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I’s named: I’s named: I’s named:
¢ bigger than

¢ greater than
¢ more than
¢ larger than

el
g How to compare numbers:

=
NOTES
The bigger number iﬁ(‘ The smaller number

¢ smaller than

¢ equal

¢ less than

The smaller number %4.2: The bigger number

:'._.. —

Compare @ and ©

A - 2-digit number is bigger than a 1 - digit number.
- PBJU.A u_gg.a_” Sd=ll R _}-\Sl u:.ﬂs_j;_}-ﬂ ngia_” dds)l
15 consists of 2 digits. 9 consists of 1 digit.

So ® > @® 15 is bigger than 9.
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\\\ = Compare 47 and 28
47 consists 2 digits. 28 consists 2 digits.

47 and 28 have the same number of digits.
LB G sl puis 50 GBSz (28) 5 (47)
Then compare the tens digits (2, 4). 4.2) o i) Le5) o0 058 13]
(4 > 2)
So: 47 > 28 47 is bigger than 28.
Or: 28 < 47 28 is smaller than 47.

Compare 35 and 39

|35 consists 2 digits. 39 consists 2 digits.

35 and 39 have the same number of digits.
B e susdl pui 3o OLsSa (89) 5 (85)

The tens digits are the same in the two number.
op3asl 8 gsluza Ol il 63

Compare the ones digits. Ao ;e85 )8
(9 > 5)

S0: 39 > 35 39 is bigger than 35.
Or: 35< 39 35 is smaller than 39.
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13 31 25 52 59 60
8 1 43 34 62 52 1
29 19 30 50 | 47 38
30 L1 - 40 65 62 26 |
63 36 30 10 . 78 87 l
35 35 Hi 66 34 43 .
12 21 4 w65 56
3 tens 3 ones Twenty Twelve
50 5 tens H tens 9 ones
22 3 tens 60 6 tens
| 6 tens 6 ones 30 thirty
l 5 tens fifteen_ [ 18 eighteen
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Htens + Sones

Forty-five
Sones + 3tens Thirty-five
Fifty-six 6tens + Sones

Twenty-nine

9tens + 2o0nes

Thirty-four 3tens + 4 ones

Htens + Sones Forty-four

9ones + 4 tens Forty-two_
Eighteen Eighty

éones + 3tens

3ones + 6tens

Sones + Y tens

Hones + S5tens

8ones + 3tens

—

3ones + 8tens

9ones + 2tens

Twenty-nine

4O + 4

3tens + 7ones

40+ 9

Forty-eight
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;I Sixty 6 tens
L70+5 60+f
fEighteen ) Eighty_
?! Sixty 6 tens
Inéms 50+L7'J
| 042 () Forty
30 + f Sixty_
oeets () atecn
- S5ones 50 |
23 3 onﬁﬁ
30420 80
40420 u2
- 60+5 70 .-




L il -:_‘::::r_'..
%

.

3 tens + 4 ones 9 ..................

Y tens + 3 ones G

5 tens + 2 ones e ..................

3tens+7o0nes &) ...............

6 tens + 5 ones e ..................
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rz tens ..... Twenty

EXXC

l(_s tens/ 20+1/ 12)

qtens +50nes¢..... w

| (30/ 40/ 20/ 10)

L "

| 4o-.... —'

[

5 is equal to

L

(6 tens / 5 ones)

'_Thirteen | (4 ¢

18/ 15/ 12/ 16)

| 9 —} | S5 —}

| (4 tens/ Hones/ 1) | (5 ones/ nineteen) | (30+2/ 5045/ 30+20)
rss T 5 | Stens+4 mT]
(75/ 60/ 90) | (ones/19/90) | | (50/Hs/ 54)
[ - 40 | Forty-sixs "
i(_atens/ 40+0/ 4 ones) L(um-s/ 6044/ 4 tens)
=

...... > 2 tens+9ones
i(3 tens/ 28/ 3 ones)

qtens and 5 o_nes is“

| (53 / 35 / 30)
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